ZI <7 THE VILLAGE
=z INTERNATIONAL SCHOOL

%’Z mGg“@\\éf "We Nurture Dreams"
GRADE -8 Work sheet - MATHEMATICS 2024-25
CHAPTER -16 POWERS
Name ... Date:....coeenenennnneen

1} (x™)" 15 expressed as
a}xm-l-n b}xmn E)Im -n d)xmi—n

Ejfﬂm 15 expressed as

ayx — y)m Biix + )™ c)xMXyTm d)all are incorrect
-2
3) What is the value of (3)
1 L 4 d
ay— bl <) H
4YWhat is the value of 2% + 7% x 10°
)72 B)o ol d)2

S22+ 37 + 4710 equals to

5 + 1,1, 1
2)2+3+4 b)1+1+1 prisl d)1
6) In 5™ | n is known as
a) base b) exponent cyconstant dmumber
7) The standard form for 0.000064
2)64x 10* b) 64x 10 c) 6.4x 105 d) 6.4x 10°
8) What is the value of 4.05 X 10° in usual form 7
ay0500 b)405000 )0 0000045 dp4050000
9) What is value of (2 x 3)27?
a)12 b)18 )36 d)8
) 140
10) What is value of (=)
a)l b)10 )0 art
10
I Fill in the blanks :
—1
11. {:_TF:] is equal to
12, (—1)19% =
- - - - —5n T,
13. The nmultiplicative inverse Df{:?} is

14. The standard form of OGS is
w3
15. The value of (=) x (7)° =
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14. %expres&eda&pmﬁ.rer of 5 1s

17. 108X 10-10=
—2
18. The vahie of (%] is
19. 7% 1075 __129 x 10™7 (= or =)
20 52 +6° =

1T Short answer type questions :
-2 -2 -2
6. simplify: [] +[] +[]
7. Find the value of m for which 2™ + 272 = 2°
8 Simplify 577 +570 x 575
0. Evaate {(5)" - (2)]

10. Express following in usual form : a) 7.5 x 10* b) 2.3x 10732

Very short answers questions
1. Find the value of (<)

Find the Cube of ()

Find the standard form of 0.00007.

Find usual form of 3.06 x 10%

) S _q\57
Find multiplicative mverse of (?)

-2

LA

SHORT ANSWER TYPE QUESTIONS
1) Simplify: 37 + 3710 x 35
2) Find the value of - ( 3% + 4~ %)x 22
3) Findthe value of : ( 37! x 471)-2"2

4) Evaluate ! o

-4
-

5) Find m so that (—3"™*! x (—=3)* = (—3)7

6) Simplify and express m exponential form (2% + 2%)% x 2~
1\ n-n?

7) Evaluate {(;) —-(:) }

8) Express following m usual form - a) 4.5 x 10* b)3x 1073

9) Express m standard form - a) 3080000 . b) 0.00067

-
10) Simplify and express in exponential form - (—3)* x (%)
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LONGANSWER TYPE QUESTIONS

iy
2)
3)
4)
=)

Simplify T

Simplify 210 x125"

Fndx(3)" x () =)

By what number should {—8)~? be multiplied so that the product may be equal to —6—37
sinpiify :(55) % (£)" x (%)’

B2

ASSESSMENT:

I Fill in the blanks : (10}

[y
H

Lol O

9

® = e W

T
{?F:] isequalto
{'_1}11}3 —

' 5y 99
The multiplicative inverse ot‘{:?) 15
The standard form of 0.000064 is

; -5V 3
The value of (=) x (7)3=__

1 .
= expressed as power of 5 is

10° x 10710=

=2
The value of () is___
Tx107% __ 129 x 1077 (<or=)

10.5°+6°=
II Short answer type questions : 532 =10

1.

Ln

N
§)

sapisy [1°+[ 7+ [}

2 Find the value of m for which 2™ + 272 = 25
3.
4

Simplify 577 + 5710 x 575

Evatuate {(2) " - (57}

Express following in usual form : a) 7.5 x 10* b) 2.3x 1073

Long answer type questions (8)

Fadx () X(3) =(3
In a stack there are 5 books each of thickness 20mm and 5 paper sheets each of thickness 0.016 mm.

Find the total thickness of stack in standard form.
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